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2024 | TAXRA

[B5mULEBF> >~ L]

Rank | K % Fr B A v MEEHK

(40U LB FY I R]

Rank K % B KA > MEREEEK
1[E B Z#H|TOY'S Tennis Lab 550 1
22 Wb B BR|F—LTTR 534 1

(45U EBFY I R]

Rank K % T B A v MEEHK
11 JI| B {E|TOY'S Tennis Lab 823 3
2|18 1§ B K|WLBET=2s77 818 2
3| B 18 BB|7yvvr=zs57 596 2
4|E JI| & m|TOY'S Tennis Lab 535 1
5|+ #fB8  f|ToY's Tennis Lab 498 1
61l R S f|RET=R077 154 3
7| B EE|T E AMO/40 149 2
8|tk 4 K FH#H|T-one 107 1
4 K B Z|7v975=2457 18 1
10|58 £ f& "l|l7zvv75=2s57 15 1

(50U LB F > 7 ILX]

Rank K % T B A v MEHEHK
1 ¥ % =8| T E AMO0/40 555 2
2011 & 1 =[EZMTA 551 2
3[EA) B Rlpuvirvrr=2s57 385 2
4|8 B IE &|evrratrarzasss 247 1
5|F ¥ IE F|E&MT=R777 235 2
6|t B AR JB[TOY'S Tennis Lab 220 3
7+ H T (EEET T = 2 iHe 149 2
8| B # =Z|TEAMO/40 145 2
9|F B K BHEKETT=ZHe 116 2
10 4 R RIFE|7Eor—vr=2057 9 1

%A 2024/7/4

[35MUEBFLTILR]

Rank| K 4% B A v MEEHK
11 B B A|M brvE 413 1
2108 W B S|LET=2057 289 1
3|8 H B M|7yv77=2457 202 1
A+ M B BAbrvE 15 1
A B & E|RENT =2 15 1

(40U LB F X7 ILX]

Rank| K 4% B A v MEEHK
1| #1 & A|TOY'S Tennis Lab 413 1
28 @ & AlLETF=2s357 289 1
3| My B |7v¥rr=2557 202 1
AlH O 8 Z2|RRETT=2iBR 15 1

(45U LB F X7 ILX]

Rank K % M E RA v M EAEK
1|4+ #&  f|ToY's Tennis Lab 1164 3
1{#k & s|T0YS Tennis Lab 1164 3
3|FE JII & T|TOY'S Tennis Lab 883 2
MF B 18 Bl7zyvvv7=zs357 519 2
5|87 H  f&|Toy's Tennis Lab 470 1
6|F JIl 5 {5[TOY'S Tennis Lab 289 1
& I B K|WET=2s77 202 1
8N Il = El7vvvr=zs57 161 1
8lik4 K BZ|7v¥75=2057 161 1
8|18 B M Z|rrvr-vr=zs57 161 1
11| 1B [T E AMO/40 15 1
11 B #F B|M T2 15 1
1118 #H  Hirrars=z7»r7:- 15 1

[50/mULEFXTILX]

Rank K % OB RA v MEEEK
11 B B Elrror-vrzassy 432 2
217y & Blrror-vr=zss57 363 2
3| B T B|AMERT=ZHE 234 1
3[F B w|kwsEsT=zHR 234 1
5|87 B & Flrrrvr-vr=zs57 230 1
6fs X 1 BLET=2s77 202 1
T\t B A% ;B|TOY'S Tennis Lab 161 1
SIEAX)I BRlpurvrr=2s57 114 1
9|t [ IF Elevannivir=zss~ 79 1
10|12 B # =|T E AMO/40 15 1
10{11 #F 18 E|&NDTA 15 1
10| B K B|&RITT=2Bs 15 1
10|T % = #|T E AMO/40 15 1




[GomUEBEFY >~ 7 L]

[Gom U EBFX 7L X]

Rank K % T B KA v MEAEH
1|+ B # F|zvorarir=ass7 644 4
212 K Elzvsroqvnrzasss 449 3
3|% M B &[mera-rr=z097 381 2
4IKHEZ ERA|FETC 381 2
slm = % afammrozpa| 127] 1
S5[EREM A &[=vsrnrvir=zs77 127 1
713 £ IE E|rrrvr-vr=zs57 107 1
8l B E 2l7vvur=2s57 33 2

(60U BT 7]

Rank K % T B KA v MEEE
e 4 R B —|-mo79-r7=2757 5539 4
2178 I B Elzv#arotvazzzsss 379 2
3|1#T b B 1T ABHT = 2B 201 2
4 ¥ T2 E|7I¥ITFZRI5T 42 3

(65U LB F> I ILR]

Rank| K 4% Fr B A v MEEH
1|12 B R|AMEHRTF=Z%HE 353 1
21N B F H|574v k7722057 200 5

[7T0mAUEBF> 7L R]

Rank| K 4% Fr B A v M EEH
1\ B f HEls74>r77=2257 1752 3
2|8 = St {XMARS-T 1037 4
3| ¥ R|EBT=RI77 224 4
Al R —|msmEET=2iR 18 1

[T5mAUERF> 7L R]

Rank | K 4% Fr B A v MEEH
1A JIl  Z|zvaraioar=zs37 548 4
2@ b RlfEEESY—v 444 1

(80U EBF> 7L R]

Rank | K 4% Fr B A v MEEH
I B 5 BLET=2s77 3554 2

Rank| K 4% i KA v MEEH
1K 2 & #|A b vE 428 2
2(% & sk E|7rvberryvy 368 2
3l A E[RMTA 363 1
4E X f&|7rAav-ns-FTC 254 1
5|1/ A& E|zvarnavar=asss 15 1
S|E B ] S|=varnrvir=xss7 15 1
5|%F B X F|fEETC 15 1

(60U EBFHTILR]

Rank| K 4% B RA v MEEH
1 4 K 13 —|-w574-n57=2257 684 2
28 K — Z|EMTA 363 1
3178 IR B Elzvrrnavnr=assz 240 2
AlFr L B TIARHT =R BR 195 2

[65mMAUEBFXTILR]

Rank| K 4% Fr B A v bEEHK
13 B % | AmERT=2%He 310 1
1M B RAMEST=XiHs 310 1
(e B EF|Y—I0LT 33 2
3k B Z|[H—2o T 33 2

[TORAUEBFXTILR]

Rank| K 4% Fr B A v bEEHK
1\ & f #5714 772057 1084 2
2|8 E  {RIMARS-T 552 2
3| B —|msEmEEToxipe 310 1
3[F B FE|s71rrirrozss7 310 1
Sl % R|EHT=RIT7 84 2

[T5mUEBFLTILR]

Rank| K 4% B A > bEEHK
1| KAk BEABEGT=2HBE 195 2

(80U EBFXTILR]

Rank| K 4% B A v bEEHK




